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.Chapter 10 Practice Test

Short Answer

}
1. Order the group of quadratic functions from widest to narrowest graph. \—b' - \:Z:YL
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2, What is the equation for the axis of symmetry?
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3. What is the expression for evaluating the discriminant?

L=-Yac
. 4. What is the Quadratic Formula?
hEJoiec
= 2 G

5. Find the equation of the axis of symmetry and the coordinates of the vertex of the graph of the function. Show
your work below the problem.

a. y=2x"+4x-3 b. y=-x"+6x-1
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. 6. Fill in the following information. Then graph the parabola. Label the axis of symmetry and vertex on the graph.

8. y=-x
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. Solve the equation using square roots,

7. a 3x?-27=0 b. x2-15=138
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Solve the equation using whatever method you wish.

8 a z'+9z+18=0 b.x2+3r—18=0 X;f&"}f”-{m('lzj
@r3)zt+L) <0 -~ 3)~ 201
Z+320 ZH6S0D x+b=) x-3=0 »———;—“‘
o 2\
N R s Elay I~ 0x =0
. 9. a c? —2c 0 b. 2x* ~10x = 0 ~(oVF ('(031:‘((2)(0)
"7—) O 2x(x -5 )= **°

202

%-5=
\_ﬁ é@ AT
e

—(»E c—zs-‘(cl\(o} 2._": 7

20\ Wy =2
¥ e
222 o> 7
2- 2 Lo
Usét the quadratic formula to solve the equation. If necessary, round to the nearest hundredth. ,
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. Using the discriminant, find the number of real number solutions for the equation.
1. a x*-2x+5=0 b.x*—7x+5=0
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12. Label each eqaution with what you think is the easiest method to use for solving and EXPLAIN why.
(CHOICES: Solving by Square Roots, Factoring, or Quadratic Formula).
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